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3.5

2 1978 53 4 1989 1991
3
6.1 4.3 20.6
1.4 3.5.1
3.5.1
(ha)
4 5
S53 (A) H1 3(B) (A)-(B) H8 9
*1 *2
55,300 51,443 3,857 7.0% 49,380
(100.0%) (100.0%) (100.0%)
22,070 20,713 1,357 6.1% 20,391
(39.9%) (40.3%) (41.0%)
3,137 1,956 1,181 37.6%
(5.7%) (3.8%)
9,612 9,585 27 0.3%
(17.4%) (18.6%)
2,655 2,606 49 1.8%
(4.8%) (5.1%)
6,666 6,566 100 1.5%
(12.1%) (12.8%)
4,604 4,405 199 4.3% 4,083
(8.3%) (8.6%) (8.3%)
4,402 4,203 199 4.5%
(8.0%) (8.2%)
202 202 0 0.0%
(0.4%) (0.4%)
(ha)*3
4 5
S53 (A) H1 3(B) (A)-(B) H8 9
*1 *2
207,615 201,212 6,403 3.1% 142,459
(100.0%) (100.0%) (100.0%)
2,066 1,640 426 20.6% 1,599
(1.0%) (0.8%) (1.1%)
383 383 0 0.0%
(0.2%) (0.2%)
1,683 1,257 426 25.3%
(0.8% (0.6%)
1,358 1,339 19 1.4% 1,141
(0.7%) (0.7%) (0.8%)
610 593 17 2.8%
(0.3%) (0.3%)
748 746 2 0.3%
(0.4%) (0.4%)
[
*1 4 2
*2 53 4 3 lha
*3 2 20 5 10
“< -10
L ]
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2 1978 53 3 1984 59

1993 5 5 1997
9
100.41km 350.11km
88.65km 315.94km 3.5.2
3.5.2

(km)

2 3 4 5

S53 S59 H5 H8 9

498.54 504.81 506.01 514.19
(100.0%) (100.0%) (100.0%) (100.0%)
10041 98.72 95.82 88.65
(20.1%) (19.6%) (18.9%) (17.2%)
133.37 13051 128.22 126.46
(26.8%) (25.9%) (25.3%) (24.6%)
256.00 266.82 27321 28481
(51.3%) (52.9%) (54.0%) (55.4%)

2 3 4 5

S53 S59 H5 H8 9
752.25 722.90 72414 739.46
(100.0%) (100.0%) (100.0%) (100.0%)
350.11 334.13 331.02 315.94
(46.5%) (46.2%) (45.7%) (@2.7%)
78.53 75.60 74.87 82.57
(10.4%) (10.5%) (10.3%) (11.2%)
319.77 309.33 31441 333.08
(42.5%) (42.8%) (43.4%) (45.0%)
“c -10
L 1
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3.6

D

Sz ol
4 M,
18.6
3.6.1
3.6.1
mME TFoNME AiEE S MR
e cm cm cm
- [ 192 278 106
o <z & 208 290 126
w/omFE 238 338 138
= m 250 354 146
B m 294 406 182
* M 315 453 178
i ] 316 454 178
= i 318 456 180
& ik 3 458 186
$ » i 344 494 194
(1974)
3.6.2
M S,
M, S,

54

M,



D
2)

3.6.2

5 M, 5 K, 0,
e Hom K Hon K Hon K Hon K
-1 B 96 230 43 252 27 208 20 190
O & & 104 254 41 290 28 216 21 192
®|/oMPBF 119 252 50 287 28 220 20 197
= M 125 254 52 295 26 220 19 201
B B 147 258 56 299 25 219 20 204
* # 158 266 69 302 20 222 22 200
k] W 158 259 69 299 29 220 22 203
= fh o159 59 69 299 27 219 21 198
E it 161 262 GH 301 25 28 0 193
£ 4 iL 172 267 75 306 27 221 22 206
(1974)
18.6
f 18.6
1)
<1>
<2>
<3>
2003 M,
1 pp.61-64
(2002) ,

, Vol .51, pp.27-30

55
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3.6.3 M,
1 2 3 4
<1> 24
50 40 50 10 20 5
<2>
2 10 0
<3>
3 40 50 60 76
® 2003 , )
12 3 , pp.307-312
>
(M, 2000 12 ) M,
<1> 50 <2> 10
<3> 40
. L 1. [ 1(2002)
s , Vol.49, pp.401-405
>
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<1> 40 50
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- L 1, L 1(2002) , ,
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6.00 \_/ A A /\ A\///\\/A\/ 6.00
4.00 \/\/ \/ 4.00
2.00 | 2.00
0.00 = R P R RS SR SR 0.00 L1 . - L
3 3 8 8 85 888 % 22 3493 3 38 8 8 5838 ® = 2 2 3 g 3

2.8 ST.7
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DO




Do ST.8 DO ST.8
(mg/L) (mg/L)
10.00 10.00
y = -0.0062x + 5.5137
R? = 0.0047
t 8.00 [
8.00 AN
6.00 | 6.00 [
4.00 - 4.00 |
y = -0.0182x + 8.1925
R? = 0.0501
2.00 2.00 |
0.00 — . - L 0.00 bt . - L
N @ o ® v o~ o o ~ © ® o N % 5~ @ o ® v o~ o o N ¥ © ©® o o %
5 2 3 8 8 5 3 3 B 2 2 2 8 3 5 2 8 8 8 5 3 3 g T 2 2 8 8 3
3 F 8 8 8 8 8 8 £ £ 2 F F 8 8 8 8 8 38 g £ =
(rary D0 ST.8 ooy DO ST.8
10.00
10.00
y = 0.033x + 4.591
R? = 0.1415
8.00 8.00
6.00 6.00
4.00 4.00
y = -0.004x + 7.091
R? = 0.0048
2.00 2.00
0.00 = . - e 0.00 Lot - - L
~ @ o @ 1w o~ o o o © ® o o = N @ o ® v o~ o o N ¥ © ® o o =
5 2 3 8 8 5 2 3 g g 2 2 98 3 5 2 3 2 8 L 2 3 g £ 2 2 g8 8 3
3 F 8 8 8 8 8 & g £ = S 3 8 8 8 8 8 8 £ 2 2
DO ST.8 D0 ST.8
(mg/L) (mg/L)
10.00 10.00
y = -0.0342x + 6.3705 y = 0.03x + 4.7057
R? = 0.0678 R = 0.0904
8.00 8.00
.00 AN A oo |
4.00 4.00
2.00 | 2.00
0.00 = . - R R 0.00 bt . - L
N 2 o m o o~ o 4 m oN ¥ o © ® o N % ~ 2 o @ @ o~ @ o4 ®m N 3§ © ® o N %
5 2 8 8 © 5 3 g 8 £ T £ 2 2 9 3 5 2 8 B #® 5 3 g 8@ £ F £ 2 2 9 3
d S 8 8 8 8 8 8 8 £ 2 2 d S 8 8 8 8 8 8 8 R

2.9 ST.8
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DO




4 DO ST.9 7 DO ST.9
(mg/L) (mg/L)
10.00 10.00
y = -0.0086x + 4.6023
R? = 0.0049
8.00 | t
— 8.00
6.00 6.00
y = -0.0123x + 8.1386 /x /\
R? = 0.0306
4.00 - 4.00 |
2.00 | 2.00
000 b v v L L 000 b v v v . R P
N 2 o ® @ o~ @ o4 ® N ¥ © ® o o ~ 2 o @ v o~ @ o m 0§ ¥ © ® o o ¥
5 2 3 8 8 5 3 g 8 £ T 22 2 9 3 5 2 83 3 8 5 3 2 @ £ FT £ 2 g 9 3
3 F 8 8 8 8 8 8 8 £ 2 2 d d 8 8 8 8 8 8 & £ 2 T
T .
(s> 5 DO ST.9 R 8 DO ST.9
10.00
10.00
y = 0.0158x + 4.4107
R? = 0.0207
8.00
8.00
6.00 6.00 |
4.00 4.00
y = 0.0103x + 6.665
R? = 0.0202
2.00 2.00
000 b v - L P A R R
N~ @ o @ b 0~ o o ®m & ¥ © ® o N % ~ @ o ® v o~ @ o4 o 8 ¥ © ® o o %
< < wn wn wn wn wn © © B E= ES ES p= -~ — < < n wn n n n o © == == == == — — —
S 3 8 8 8 8 8 8 8 2 £ = 3 5 8 8 8 8 8 8 3 T £ =
6 DO ST.9 9 DO ST.9
(mg/L) (ng/L)
10.00 10.00
y = 0.0003x + 5.5997 y = 0.0342x + 4.4871
R? = 1E-05 R = 0.1114
8.00 | 8.00
o | A A J\N
W, VAV AN A AT
4.00 4.00 |
2.00 | 2.00
oo b e oo b L P
N @ o @ v o~ © o ®m & ¥ © ® o N % ~ @ o ® o o~ @ o4 ® N 3 © ® o o %
5 2 3 3 8 5 3 8 @ £ ¥ 2 2 g & 3 5 2 3 B & 5 3 8 8 £ T £ 2 8 9 3
d dH 8 88 8 8 8 & & g 2 2 S 8 8 8 8 8 8 8 F 2 T

2.10 ST.9
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DO




D0 ST.10 7 DO ST.10
(mg/L) (ng/L)
10.00 10.00
y = -0.0217x + 5.1095
R? = 0.0152
8.00 7 > 8.00 /ﬁ\
6.00 6.00 A /\\\
y = -0.0136x + 8.1818 / \ /\ / /
R? = 0.0322 N
4.00 | 4.00 | \/ d r‘;f
2.00 F 2.00 Y V
0.00 i PR 000 Lo e e e
8 DO ST.10
sy D0 ST.10 o
10.00 10.00
y = 0.0467x + 4.1615
| R? = 0.1236
8.00 /\\v//\\\\\\\ 8.00
6.00 \/ 6.00 /\
4.00 4.00
y = 0.015x + 6.551 \V/ \/
R? = 0.0279
2.00 2.00 V
0.00 Lo e oo Lo e s e e
5 02 2 02 28 5 2 2 8 § F ¢ 2 3 o yF 5 2 3 2 8 5 3 3 @ £ ¥ 2 2 g 3§ =
3 3 8 8 8 8 8 8§ 8 T T = T 2 Z g S 3 8 8 8 8 8 8 8 F £ F
6 DO ST.10 9 DO ST.10
(mg/L) (mg/L)
10.00 10.00
y = -0.0289x + 5.8969 y = 0.0326x + 4.5279
R? = 0.0453 R? = 0.0916
8.00 8.00
6.00 6.00
4.00 \/ \/ V \/ 4.00
2.00 F 2.00 F
0.00 Lo S S SR 000 Lo e e e e
N~ @ o @ b 0~ o o ®m & ¥ © ® o N % ~ @2 o @ v o~ o o ® & ¥ © ® o N %
5 2 3 3 8 5 2 8 @ £ T 2 2 g 8 3 5 2 3 @2 8 5 3 3 @ £ ¥ 2 2 3 8 =
S 3 8 8 8 8 8 8 8 £ 2 T 3 3 8 8 8 8 8 8 8 £ 2 =

2.11 ST.10
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DO




DO ST.11 7 DO ST.11
(mg/L) (ng/L)
10.00 10.00
y = -0.0049x + 5.6144
R® = 0.0011
8.00 8.00
6.00 | 6.00 |
\/\/V N
4.00 4.00
y = -0.0264x + 8.461
R? = 0.0869
2.00 | 2.00
0.00 L S 000 b S RS R
3 3 B 2 8B B g g e R 2 3 g 3 3 § 38845 8382 2 2 2 3 4d g
DO ST.11 8 DO ST.11
(mg/L) (mg/Ly
10.00 10.00
y = 0.0091x + 5.0852
R? = 0.0089
8.00 8.00
6.00 6.00
4.00 4.00
y = 0.0063x + 7.0665
R? = 0.0123
2.00 | 2.00
0.00 Lo T 0.00 b v P S RS SR
5 § 88858882 = 2 2 3 3Jg3 5 3 3 8 8% 83888 ¢% =2 2 3 g 3
DO ST.11 9 DO ST.11
(mg/L) (mg/L)
10.00 10.00
y = -0.0093x + 6.2836 y = 0.0023x + 5.5533
R? = 0.0099 R? = 0.0011
8.00 8.00
6.00 //\\// 6.00
4.00 4.00
2.00 | 2.00
0.00 Lo P S R R SR 000 b S S R S S S S S S
N @ o ® w o~ o o4 ®m N ¥ © ® o o % N 2 o m o o~ @ 4 m o oN ¥ o © ® o N %
5 2 3 8 8 5 3 3 8 £ F 22 2 9 3 5 2 8 8 © 5 3 g 3 £ T £ 2 2 9 3
F F 8 8 8 8 8 8 & 2 £ = F S 8 8 8 8 8 8 8 R
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DO






